
Opérations avec deux fractions mixtes (C)

Nom: Date: Note:

Calculez chaque résultat.

1. 535 + 1 618 =

2. 2 620 ÷ 538 =

3. 117 × 512 =

4. 515 ÷ 113 =

5. 426 ÷ 513 =

6. 546 − 2 311 =

7. 568 × 159 =

8. 513 × 1 111 =

9. 528 − 1 119 =

10. 547 + 148 =
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Opérations avec deux fractions mixtes (C) Réponses

Nom: Date: Note:

Calculez chaque résultat.

1. 535 + 1 618 = 28
5 + 24

18 = 504
90 + 120

90 = 624
90 = 104

15 = 61415

2. 2 620 ÷ 538 = 46
20 ÷

43
8 = 46

20 ×
8
43 = 368

860 = 92
215

3. 117 × 512 = 8
7 ×

11
2 = 88

14 = 44
7 = 627

4. 515 ÷ 113 = 26
5 ÷ 4

3 = 26
5 × 3

4 = 78
20 = 39

10 = 3 910

5. 426 ÷ 513 = 26
6 ÷ 16

3 = 26
6 × 3

16 = 78
96 = 13

16

6. 546 − 2 311 = 34
6 − 25

11 = 374
66 − 150

66 = 224
66 = 112

33 = 31333

7. 568 × 159 = 46
8 × 14

9 = 644
72 = 161

18 = 81718

8. 513 × 1 111 = 16
3 × 12

11 = 192
33 = 64

11 = 5 911

9. 528 − 1 119 = 42
8 − 20

19 = 798
152 −

160
152 = 638

152 = 319
76 = 41576

10. 547 + 148 = 39
7 + 12

8 = 312
56 + 84

56 = 396
56 = 99

14 = 7 114
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